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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 4.52 56.40 | =hs | 0.oo ~ 000 1.67 7.91 st 1.00 | 6.00 ~ 5.00 56.40 | =h4 | 5.00 ~ 56.00| 1.567 7.91
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 719 91.41 | #n4 | 000 ~ 0.00)| 1.64 8.27 st 1.00 | 6.00 ~ 9.60 91.41 | #hA4 | 5.00 ~ 9.60 | 1.64 827
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 423 5286 | =nLS | 000 ~ 423 2.01 10.16 st 1.00 | 6.00 ~ 5.00 52.86 | =h4 | 5.00 ~ 56.00)| 2.01 10.16
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 758 96.98 | =S | 0.00 ~ 7.58| 2.43 12.27 st 1.00 | .00 ~ 1100 96.98 | =nLS | 5,00 ~ 11.00| 2.43 1227
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 6.20 77.80 | NS | 000 ~ 620 1.84 927 st 1.00 | 6.00 ~ 7.30 77.80 | NS | 5.00 ~ 7.30| 1.84 927
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 5.09 63.46 | FnLSY | 0.00 ~ 509 | 1.94 978 st 1.00 | 6.00 ~ 56.90 63.46 | TS | 5,00 ~ 590 | 1.94 9.78
- 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 543 67.70 | FNLSY | 000 ~ 543 1.85 9.37 st 1.00 | .00 ~ 6.10 67.70 | TS | 5,00 ~ 6.10] 1.85 9.37
P 100kN/mM%E#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS -~ — — —
s 1.00 | 0.00 ~ 6.69 84.51 | #nS | 000 ~ 669 1.78 9.02 st 1.00 | 6.00 ~ 810 84.51 | =h4 | 6,00 ~ 810| 1.78 9.02
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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